19 3/8" HIGH FANELS—Z

22 1/2' HIGH PANEL

ly N

22 1/2" HIGH PANEL WITH WINDOWS

9.0

D STILE
& CENTER STILE. SCREWS PENETRATE
BOTTOM BRACKET & STILE

14 GA. HINGE ATTACHED WITH
14 GA. BOTIOM BRACKET . HINGE
ATTACHED WITH (3) #14 x BL1g XSG HEXHEAD
5/8" SHEET METAL SCREWS

23/8" 043 GA. STRUTS ATTACHED
DETAIL A 2" DIA. STEEL ROLLER WITH 4" LG, DETALC  WITH (2) 1/4" x 3/4" HEX HEAD
STEM HELD BY 7/16" DIA. BOLT SCREWS AT EACH END STILE
RETAINER & CENTER STILE. SCREWS PENETRATE
STRUT, HINGE & STILE

2 3/8" 043 GA. STRUTS ATTACHED
WITH (2] 1/4" x 3/4" HEX HEAD
SCREWS AT EACH END STILE

RESIDENTIAL BRACKET & STILE

16 GA. GALV. RESIDENTIAL

TOP ROLLER BRACKET ATTACHED
WITH (4) 1/4" x 3/4" HEX HEAD
SCREWS PER BRACKET:

ADJUSTABLE ROLLER CARRIER
ATTACHED WITH (2) 1/4"x 1/2"
BOLT & NUT PER BRACKET

2" DIA. STEEL ROLLER WITH 4" LG.
STEM HELD BY 7/16' DIA. BOLT
DETALD RETAINER

& CENTER STILE. SCREWS PENETRATE

20 GA. GALV. STEEL
END STILE

—

[
\Slléx 1 5/8 LAG BOLT ATTACHED

TO JAMB AT EACH JAMB BRACKET

2' DIA. STEEL ROLLER WITH 4" LG.
STEM HELD BY 7/16" DIA. BOLT
RETAINER

14 GA. HINGE ATTACHED WITH
l% 1/4" x 3/4" LG. HEX HEAD
SCREWS

2 3/8" .043 GA. STRUTS ATTACHED
WITH [2) 1/4" x 3/4" HEX HEAD
SCREWS AT EACH END STILE

8 CENTER STILE. SCREWS PENETRATE
STRUT, HINGE & STILE

2'.057 GA. GALV. STEEL TRACK

DETAILE e

70"

= =

SECTION F-F

S

5-013/16"

3-55/1¢"

= S

1-10 5/16"

513/16" 7

~

12 GA. GALYV. STEEL JAMB BRACKETS
ATTACHED WITH 1/4-20 TRACK SPLICE
BOLT & NUT:

13 GA. GALV. STEEL FLAG BRACKET

23/8".043 GA. STRUT

23/8".043 GA. STRUT

23/8".043 GA. STRUT

2' GALV. STEEL TRACK,
057 GA.

23/8".043 GA. STRUT

23/8".043 GA. STRUT

Drawing #: WLD-1C-SRP

Door Widths up to: 10’-0”

Door Hights up to: 8-0”

Design Pressure Rating: +26.7/-33.3

. ANSI/DASMA 108
Test Standards: ASTM E 330-97el

gouny

gcneEnnL

SHEET 1 OF 1 |BY: JTL DATE: 5/11/24




	Page 1

